Hw Unit 2 — Limits & Continuity

Unit 2.8 The Product Rule
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| Find the derivative of each function.
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| Use the table to find the value of the derivatives of each function.
6.
x j(x) J'(x) k(x) k'(x)
a. h(x) = 2j(x)k(x) b f) = (E2-4)(1- k@) = (35 - )i -e)
3L )

Find h'(—1). Find f'(—1).
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| Use the table to find the value of the derivatives of eath function.
;
t c(t) c'(t) 1(t) I'(t)
2 4 -2 -1 2
a. f(t) =g3c(dl(t) b. h(t) = (5—c(®))(1 + 21(t))
Find £{2) ~ &2 Find h'(2).
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Answers to 2.8 CA #1
1. 10xInx + 5x 2. —3e*(5 + 7x) 3. 6cos?x—6sin®x+1 |4 —pE_2EmX
5. "%+% 6a. —76 6b. —7 7a. —30 7b. 2
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